Responses Responses
25 15
The hometlvor.k set decelops my‘chlld s Ks2 % Ks1 %
organisational and study skills
Strong Agree 5 20% 0 0
Agree 4 16% 5 |33.30%
Neutral 7 28% 3 20%
Disagree 4 16% 4 126.70%
Strongly Disagree 5 20% 3 20%

Responses Responses
25 15
Year Group KS2 % KS1 %
Year 1 N/A 6 40%
Year 2 N/A 9 60%
Year 3 3 12% N/A
Year 4 7 28% N/A
Year 5 8 32% N/A
Year 6 7 28% N/A
Gender KS2 % KS1 %
Boy 9 36% 12 | 80%
Girl 16 64% 3 20%
Is you child on the register for
SEND? (Special Educational | KS2 % KS1 %
Needs)
Yes 2 8% 1 | 6.70%
No 23 92% 14 | 93.30%
Is English your child’s first Ks2 % Ks1 %
language?
Yes 22 88% 15 | 100%
No 3 12% 0
My child receives regular Ks2 % Ks1 %
homework?
Strong Agree 13 52% 8 |53.30%
Agree 11 44% 6 40%
Neutral 0 0 1 | 6.70%
Disagree 1 4% 0
Strongly Disagree 0 0 0
My child enjoys homework | KS2 % KS1 %
Strong Agree 3 12% 0
Agree 6 24% 4 |126.70%
Neutral 10 40% 6 40%
Disagree 3 12% 3 20%
Strongly Disagree 3 12% 2 |13.30%
My child benefits from
completing times tables KS2 % KS1 %
homework
Strong Agree 11 44% 2 | 13.30%
Agree 10 40% 7 | 46.70%
Neutral 3 12% 2 | 13.30%
Disagree 1 4% 1 | 6.70%
Strongly Disagree 0 0 3 20%

Responses Responses
25 15
My chil fits fi
yc' ild benefits from Ks2 % Ks1 %
completing maths homework
Strong Agree 7 28% N/A| N/A
Agree 12 48% N/A| N/A
Neutral 16% N/A| N/A
Disagree 4% N/A| N/A
Strongly Disagree 4% N/A| N/A
My ('Zhl|d ben.eflts from 2 % Ks1 %
completing spelling homework
Strong Agree 10 40% 3 20%
Agree 10 40% 6 40%
Neutral 5 20% 4 |126.70%
Disagree 0 0 1| 6.70%
Strongly Disagree 0 0 1 | 6.70%
My child benefits fi di
y chi .enels rom reading [ o) % Ks1 %
their book at home
Strong Agree 16 64% 9 60%
Agree 7 28% 6 40%
Neutral 1 4% 0 0
Disagree 1 4% 0 0
Strongly Disagree 0 0 0 0
My child benefits from
leti
_compieting Ks2 % |Kks1 %
reading/comprehension
homework
Strong Agree 9 36% N/A  N/A
Agree 10 40% N/A  N/A
Neutral 5 20% N/A  N/A
Disagree 0 0 N/A N/A
Strongly Disagree 1 4% N/A  N/A
My child benefits from
completing the homework o
% KS1 %
grids (choice of tasks stuck in ° .
their homework books)
Strong Agree 3 12% 0 0
Agree 8 32% 5 33.30%
Neutral 6 24% 3 20%
Disagree 4 16% 4 26.70%
Strongly Disagree 4 16% 3 20%

Responses Responses
25 15
My child’s homework is based
on what they are learning in | KS2 % KS1 %
class
Strong Agree 2 8% 3 20%
Agree 14 56% 8 [53.30%
Neutral 5 20% 3 20%
Disagree 2 8% 0 0
Strongly Disagree 2 8% 1| 6.70%
My Child has to much Ks2 % Ks1 %
homework
Strong Agree 4 16% 4 |26.70%
Agree 4 16% 1| 6.70%
Neutral 3 12% 4 |26.70%
Disagree 10 40% 6 40%
Strongly Disagree 4 16% 0 | 0.00%
I receive clear instrutcions o
% KS1 %
regarding my child's homework . °
Strong Agree 4 16% 1| 6.70%
Agree 9 36% 7 |46.70%
Neutral 5 20% 1| 6.70%
Disagree 4 16% 4 126.70%
Strongly Disagree 3 12% 2 [13.30%
My child's h ki
y child's om'ewor is adapted Ks2 % Ks1 %
to their needs?
Strong Agree 1 4% 0 0
Agree 3 12% 4 126.70%
Neutral 10 40% 4 |26.70%
Disagree 6 24% 4 126.70%
Strongly Disagree 5 20% 3 20%
My child trl‘es hard to complete Ks2 % Ks1 %
their homework
Strong Agree 11 44% 5 |33.30%
Agree 7 28% 5 133.33%
Neutral 5 20% 3 20%
Disagree 2 8% 2 [13.30%
Strongly Disagree 0 0 0 | 0.00%

Additional Comments




